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Additional tips for energy balance

Part 2. Transformations
• Sign „-” means fuel input into the transformation process, while sign „+” means the output

• For example, in „Electricity plants” flow:
- Fuel input in the electricity plant is -31040 TJ of primary coal and -64 TJ of oil

products, while
- Electricity (energy) output is 11231 TJ



Exercize (1/3) 
– recalculating volume to mass units and vice versa

Energy statistics (balance) usually report data on gas, 
diesel, and diesel trade production and consumption in 
mass units like „kg” or „tones”

Customers buy gas diesel and diesel in volume units: 
„litres”

In the case of recalculating litres to kg and vice versa, it
is necessary to have available density of the fuels

Density = Mass / Volume

https://unstats.un.org/unsd/energystats/methodology/d
ocuments/IRES-web.pdf

Density diesel = 0,85 kg/litre
Density gasoline = 0,742 kg/lit

https://unstats.un.org/unsd/energystats/methodology/documents/IRES-web.pdf


Exercize (2/3) 
– recalculating volume to mass units and vice versa

Task: Calculate the mass of the one-filled car reservoir of
50 litres or how many kilograms have 50 litres of gasoline
and 50 litres of diesel? 

Answer:

50 liters of gasoline = ??? kg of gasoline
50 liters of diesel  = ??? Kg of gasoline

Reminder
Density = Mass / Volume

Density diesel = 0,85 kg/litre
Density gasoline = 0,742 kg/lit



Exercize (3/3) 
– recalculating volume to mass units and vice versa

Task: Calculate the mass of the one-filled car reservoir of
50 litres or how many kilograms have 50 litres of gasoline
and 50 litres of diesel? 

Answer:

50 liters of gasoline = 50 lit *0,724 kg/lit = 37,1 kg of
gasoline
50 liters of diesel  = 50 lit * 0,85 kg/lit = 42,5 kg of diesel

Conclusion
The same volume of diesel is 14,5 % havier then gasoline



Exercise (4/4) 
– recalculating volume to mass units and vice versa

Task 1: Calculate the mass of the one-filled car reservoir
of 50 litres or how many kilograms have 50 litres of
gasoline and 50 litres of diesel? 

Answer:

50 liters of gasoline = 50 lit *0,724 kg/lit = 37,1 kg of
gasoline
50 liters of diesel  = 50 lit * 0,85 kg/lit = 42,5 kg of diesel

Conclusion
The same volume of diesel is 14,5 % havier then
gasoline.



Exercise (4/4) 
– recalculating volume to mass units and vice versa

Task 2: Recalculate mass of diesel and gasoline into
common energy unit? 

Answer:

50 kg gasoline = XXXX MJ
50 kg diesel  = XXXX MJ

Open IRES manual and read

Conclusion
1 kg of gasoline = XXXXXMJ
1 kg of diesel = XXXX MJ


